EARAROBEEIERT — 2 N— IBISH —F

20125F4H220 (B) 2E£IR3H

mﬂﬁ%—ﬂﬁ cC47 (xmlm | lmEmml - |5 ) o 8
[AE4£] 1% :160,000  ~ 2#&:32,000 ™  37%&:14,000” . 43%&:11,000 " 57 :6,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
° N N TR A :32. -1-1- . — HEF (£R)
1188 TJLY¥ NTIL— o4 54.0 1(3_2)9 Bl e 1 (i?g) ¥U—l?§ﬁ|§
LT w TRy b BNV -1 R BEENRS
e e (g ) 33, 443 |0.2| — EHEL (2R
2 4| ¥AZEY o4 LE 1(333)5 4-4-4-3 | 40.2 3 (4:3; ;lﬁg
ATANAY— B ATOTILY AR B
S Kk T o4 | REF 1:34.0 5-5-5-4 | 40.1| — 2 460 | FEAF (£R)
30111 ThH¥F by TEX 54.0 (2 1/2) (-3) ZE|15EER
L:7L>FFE2Te BUIO/FFaY HRXEHE wLFL
. o) o EUIES : —6-6- — BEF (2R)
al7] 7| # 1o amrE- it 4 ol 1.(334).7 6-6-6-6 | 40.7 7 <4+118) e
LY by THY BiALTaus)— =rdie )
e 4 6 | DIEEANSE 1:34.9 3-3-2-2 |41.9| — 5 400 | FWLEA (£R)
5lglg OEERYL R 54.0 & Gy | ) -2y
:a%—K B:LFq/N—bF— ke
=5,550 . o4 | AEB 1:35.1 2-2-3-5 |42.0| — 6 448 | FLFEEA (£R)
66| 7R7¥FH-X 54.0 (1 1/2) (+4) 8 k-2
L:yrh—r BARIFTI-F RS
5 . t 5 | AFBt 1:35.2 7-7-8-7 | 40.9| — 4 492 | BWEEA (&R
7 3 XA ER * 5?3_0 (1/2) +1) ﬁ(ﬁ) K= T
Ry 72t >Z2 B:75v70EY H RS AR
RYZEN i 4 | BRI 1:35.9 8-8-7-8 |41.8| — 8 430 | HARKR (£R)
8 2| TAY =Yl 54.0 3) © | @ e
R:FEY KY2Z7 B:F7oVal— AV S
- S . B4 | BAK— 1:36.8 9-9-9-9 |41.8| — 9 | 448 |BWEA (£R)
9|55/ 7T =vT7RI=2X 54.0 @ (+10) &) A-x57
L:HAM—Y—X B8V IFNY RERYUS
® I—F—@EBIERL
13—7F— 8,6,9,4,1,7,3,2,5
Ao=5"= 8,6,9,4,1,7,3,2,5
3T—7— 8,9,6,4,1,7,2,3,5
43—+ — 8,9,4,1,6,7,3,2,5
[ N5
B R 8 1208 | [ 74 K 4-8 1O | | # &= 4-8 280/ | | 3EfE 1-4-8 210
# B 8 1004 1-8 130H B 8-4 390M EE 8-4-1 740
4 110 1-4 130H B = 4-8 300
1 110/ B H 8-4 340M

ABICOVWTRDTEEERROODE. TR LIV,




